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Amazing Class Session Sir ji..

AN

My Answers for today's Homework are like-

1). Option C == 59%..

Read more
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a = edge/side
Volume : a3

Lateral surface Area : 4a2
Total surface area : 632
Diagonal : /3 x a




If the volume of a cube is 729 cubic cm, what is the length of its diagonal?

Ife TeRe O ShT TG 729 U THT 8, A7 Sk [AehUl shi ¢IF TS ehd-T &2

a) 9\/2 cm
b) 9V3 cm

¢) 18 cm

d) 18V3 cm



S CUBOID

\@ BZEIRL
X | = length
Q* b = breadth
1 h=height
Volume : I x b x h
Lateral surface Area : 2(1 + b)h_

Total surface area: 2(Ib+ b h+ hl)
Diagonal : vV (2 + b2 + h?




What are the dimensions ( length, breadth and height respectively) of a cuboid with
volume 720 cubic cm, surface area 484 square cm and area of the base72-sqtrarecm ?
720 O GHT AT, 484 T AHT TF ST TAT 72 T AHT HATUR-GAEA ATl TATH hi

T @ras, weTE SR ) e ?
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RIGHT CIRCULAR CYLINDER

r = radius of base

h = height of the cylinder 20 % h
. 2 - g\.\‘\‘c\r\
AL Volume :arth  —swn = RS

Curved surface Area : 2rxrh~
Total surface area : 2nr(h +r)
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A cylindrical tube opened at both the ends is made of iron sheet which is 2 cm
thick. If the outer diameter is 16 cm and its length is 100 cm, find how many

cubic centimeters of iron has been used in making the tube ?

AT TR U AT 83 Teh TR Aot el <hY STl | &=t g AT 2 AT AT 31 i
STEl SATE 16 THT g 3T 3HhT TS 100 T &, T Tl ol I | fehad o= GeiHtel
aﬁ%wwﬁwmw%?

a) 8800cm’
\oo G

b) 8200cm’

|

¢) 8600cm’

o &,
’5 d) 8850cm?




A rectangle 20 cm long and 14 ¢cm wide is rotated by 360° along its width. What is

the volume of the cylinder thus generated?

20 THT AT 31 14 AHY ST Teh ATA hl IHERT TISTE oh ST 360° THTAT AT 2
39 TR T FAT Rl HATIAT ha T 82
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=% S0 Gm a) 12320 cm’
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b) 17600 cm?

¢) 19600 cm?

d) 13320 cm®



A tent is of the shape of a right circular cylinder upto a height of 3 m and then becomes
a right circular cone with maximum height of 13.5 m above the ground. if the radius of
the base is 14 m , the cost of painting the inner side of the tent at the rate of mr sq

/i

m is
Ueh 32 Ugel TR R & faaeht 3=me 3 |, 2 fum vigamenr B, afe 32 ht s & erfereraw
TS 13.5 Y. T 3T SR i BT 14 W, 1 a1 ¢ o TN WRT i ﬁﬁﬂchu-l HT2LE
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RIGHT CIRCULAR CONE

r = radius

h = height

| = slant height
| = V12 + h?

1
Volume :gnrzh
Curved surface Area : t rl

Total surface area : = r(l +r) G



A conical tent is 48 m high and the diameter of its base is 28 m. What is the cost

of canvas at the rate of Rs. 80/m? to make the tent?
Ueh VioFATehTY v shl 370lT3 48 HIS & 3R 38eh TR T sATH 28 HIeT 2| av i
ST ok o1 80 TU U o7 Hiet hl & W KT shi TTNT T BT

Q/L: Ll?)z'l'\\/\?\
(T~ 230M \ A6

a) Rs. 1,80,000

" b) Rs.1,76,000

¢) Rs. 1,96,000

d) Rs. 1,48,000



Volume : % 3

Curved surface Area : 4nr?
Total surface area : 4nr?




The surface area of a sphere of radius 5 cm is five times the area of the curved

surface of a cone of radius 4 cm. Find the volume of the cone

5 |t AT STl Teh Tt T TS AAEA, 4 Gt AT STl Teh 37 o T5h Ioi
&ISTOheT ShT U=l TTAT 1 Iieh ShT ST AT chTTSTO)

APAN a) 16Tt

b) 26Tt

¢) 3N

d) 4T









